Scratch Ticket Game Closing Analysis SUMMARY REPORT

Scratch Ticket Information		Date Completed	7/29/2024
Game #	2546	Confirmed Packs	2,803
Game Name	Bonus 7	Active Packs	1,035
Quantity Printed	9,249,750	Warehouse Packs	18,541
Price Point	\$2	Returned Packs	3,110
Start Date	1/16/2024	Printed Payout Percentage	64.98%
Top Prize	\$ 30,000	Percent Sold	64.43%
Number of Top Prizes Remaining	3	Number of Weeks Out	28

	Current Game	Sales Analysis
TANGIBLE COSTS		
Expenditure Impact:		
Cost to print tickets	\$ 210,594	Actual ticket production costs
Prize payout expense	\$ 7,279,987	Data from Instant Ticket Tier Liability screen in ES
Estimated Direct Costs	\$ 7,490,581	
TANGIBLE BENEFITS		
Revenue Impact:		
Estimated sales	\$ 11,919,228	Based on # of tkts printed, times % sold from DaVinci report, times the price point
Total Estimated Benefits	\$ 11,919,228	
Excess of Revenue over Expended	\$ 4,428,646	

INTANGIBLE POSITIVE BENEFITS:

- --Allows for open bin space for new games at same price point with higher average weekly sales.
- --Allows retailers to return inventory to TLC that is not selling thus releasing their financial burden

INTANGIBLE NEGATIVE BENEFITS:

--There are still valuable prizes remaining in this game.

Assumptions:

--Estimated sales revenue is calculated based on the number of tickets printed times the percent sold from the DaVinci report. The percent sold amount is based on pack settlements. Some partial packs could be returned thus slightly reducing the sales revenue amount reported above.

Weekly Sales	Comparison Info	mation	
Previous 3 W	eeks Sales from Da	<u>Vinci</u>	
Most recent week sales	\$	89,510	
Next week	\$	96,920	
Next week	\$	107,360	
	_		
Avg Weekly Sales Current Game	\$	97,930	
Avg Weekly Sales \$2; 5M-9.99M Qty	\$	889,989	
Percentage Of Variance In Sales		89%	

Docusign Envelope ID: 84C17C5A-C6FD-48AC-AD60-0D1DFE3DD871

LEADS LOT TERY COMMISSION

Scratch Ticket Game Closing Analysis RECOMMENDATION AND APPROVALS

Instant Ticket Information

Game #		2546	Printed Payout Percentage	64.98%
Game Name		Bonus 7	Actual Payout Percentage	61.08%
Percent Sold		64.43%	Number of Weeks Out	28
Average # of Weeks for 85% Sell	-through for	-		17
Recommendation				
Based on the findings in the	nis Summar	y Report, I am rec	commending closing the above game.	
I am recommending closin	ng the above	e game based on	the below business reason(s):	
		9		
OB 1		= (20 (200)		
(Vale Downsock		7/30/2024		
Scratch Ticket Strategy Coordina	tor Date			
Will Kuss		7/30/2024		
Products Manager	Date			
By signing below, I agree with the	recommen	dation of the Prod	ucts Department Staff to close the ab-	ove game.
a.L.		0 /1 /2024		
fout (in		8/1/2024		
Lottery Operations Division Direct	tor Date			
S Anna C		0 /5 /2024		
OF ANGELLY		8/5/2024		
Controller	Date			
N/A				
Deputy Executive Director	Date			
for mill		8/5/2024		
Executive Director	Date			



															Net S	ales	
Product Line	Game	\$	Tix Run	Name	Start	Call	Close	Wks	% Sold	Confirmed	Active	Ware	Return	7/27/24	7/20/24	7/13/24	7/6/24
Baseline	2564	\$1	13,210,350	HIT \$5,000	5/6/24			12	45.24%	10,365	9,471	26,450	11	\$482,011.00	\$496,523.00	\$476,344.00	\$544,010.00
	2571	\$2	25,071,375	CLASSIC BINGO!	5/20/24			10	13.61%	15,941	8,436	146,829	21	\$774,648.00	\$796,550.00	\$847,324.00	\$958,188.00
	2466	\$2	5,106,625	NEON 9S	6/17/24			6	32.50%	10,136	8,311	7,642	33	\$552,660.00	\$604,588.00	\$683,352.00	\$665,278.00
	2496	\$2	6,003,750	POWER 10X	7/15/24			2	7.18%	15,527	9,011	18,676	0	\$557,530.00	\$302,018.00	\$2,750.00	\$0
	2572	\$5	7,209,000	\$500 FRENZY	6/17/24			6	26.73%	21,221	9,670	37,883	55	\$1,366,805.00	\$1,565,205.00	\$1,757,610.00	\$2,005,225.00
	2574	\$5	7,215,375	BIG WINNINGS	7/1/24			4	21.48%	24,410	11,326	37,882	34	\$2,130,915.00	\$2,244,540.00	\$2,162,765.00	\$1,212,000.00
	2569	\$5	7,328,325	DOUBLE DOUBLER	6/3/24			8	33.56%	10,826	6,764	45,837	34	\$1,134,075.00	\$1,351,890.00	\$1,152,980.00	\$1,532,670.00
	2499	\$5	7,338,450	EXTREME GREEN	7/15/24			2	8.11%	30,698	12,178	44,825	0	\$2,003,015.00	\$963,445.00	\$7,875.00	\$0
	2565	\$5	14,318,325	HIT \$200,000	5/6/24			12	38.73%	16,676	10,067	87,804	4	\$1,644,700.00	\$1,650,580.00	\$1,690,415.00	\$1,974,480.00
	2585	\$5	49,850,175	SUPER LOTERIA	6/17/24			6	7.56%	30,043	12,199	566,336	8	\$3,962,690.00	\$3,657,565.00	\$3,417,565.00	\$3,560,490.00
	2582	\$10	22,209,750	\$250,000 50X CASHWORD	7/1/24			4	4.58%	41,811	8,928	369,667	3	\$3,116,440.00	\$2,970,760.00	\$2,634,290.00	\$1,459,500.00
	2598	\$10	10,877,800	\$50 \$100 OR \$500	7/15/24			2	4.32%	41,707	8,714	154,986	8	\$2,989,210.00	\$1,698,050.00	\$13,500.00	\$0
	2573	\$10	8,197,300	200X	6/17/24			6	28.42%	34,743	11,302	67,501	51	\$3,481,790.00	\$3,611,860.00	\$3,763,320.00	\$4,559,790.00
	2566	\$10	11,258,600	HIT \$500,000	5/6/24			12	31.94%	22,621	9,672	118,547	7	\$2,324,650.00	\$2,251,900.00	\$2,245,380.00	\$2,616,240.00
	2583	\$20	15,298,725	\$1,000,000 CROSSWORD	5/20/24			10	13.09%	34,691	9,492	482,947	6	\$4,756,300.00	\$4,217,440.00	\$3,735,860.00	\$4,157,760.00
	2567	\$20	6,098,900	HIT \$1,000,000	5/6/24			12	35.99%	25,113	9,635	118,365	31	\$2,817,260.00	\$2,801,540.00	\$2,716,400.00	\$3,172,160.00
	2570	\$20	6,117,700	JACKPOT MILLIONS	6/3/24			8	21.12%	33,551	10,700	145,636	26	\$2,943,460.00	\$3,008,640.00	\$2,586,640.00	\$3,137,080.00
	2575	\$20	7,982,300	VIP MILLIONS	7/1/24			4	10.66%	40,981	10,268	229,280	3	\$4,494,620.00	\$4,551,440.00	\$4,518,960.00	\$3,457,940.00
	2518	\$50	7,928,240	500X LOTERIA SPECTACULAR	5/20/24			10	14.43%	30,454	7,634	297,840	47	\$5,764,950.00	\$5,797,050.00	\$5,387,150.00	\$6,017,300.00
Mature	2541	\$1	29,430,150	20X POWER BLITZ	1/2/24			30	44.53%	7,425	5,649	93,265	685	\$272,658.00	\$255,973.00	\$237,865.00	\$249,314.00
	2417	\$1	9,996,450	7-11-21	3/18/24			19	80.18%	5,039	3,834	1,941	826	\$217,460.00	\$233,880.00	\$237,039.00	\$276,376.00
	2424	\$1	823,350	CASH FRENZY	9/14/22			97	0.00%	0	0	1,358	345	\$0	\$0	\$0	\$0
	1878	\$1	854,700	CASH ON THE SPOT	9/18/17			358	0.00%	0	0	802	96	\$0	\$0	\$0	\$0
	2124	\$1	853,200	WINNING 7S	8/8/19			259	0.00%	0	0	1,274	438	\$0	\$0	\$0	\$0
	2539	\$2	9,005,875	5 TIMES LUCKY	4/15/24			15	45.03%	7,244	3,433	26,122	894	\$304,520.00	\$335,040.00	\$344,642.00	\$436,854.00
	2546	\$2	9,249,750	BONUS 7	1/16/24			28	64.43%	2,803	1,035	18,541	3,110	\$89,510.00	\$96,920.00	\$107,360.00	\$116,724.00
	2552	\$2	24,253,375	BREAK THE BANK	12/4/23			34	59.08%	12,208	7,945	53,246	10	\$769,756.00	\$763,998.00	\$716,136.00	\$822,792.00
	2476	\$2	9,233,750	LUCKY DOG/COOL CAT	3/18/24			19	48.89%	5,112	2,309	26,844	1,920	\$185,420.00	\$207,992.00	\$211,354.00	\$267,058.00
	2388	\$2	7,293,125	MATCH 3 TRIPLER	2/19/24			23	69.29%	6,270	2,649	4,310	1,973	\$205,390.00	\$206,758.00	\$212,862.00	\$256,770.00
	2542	\$3	24,005,000	30X POWER WORD BLITZ	1/2/24			30	41.44%	8,816	5,895	95,797	106	\$709,305.00	\$705,537.00	\$666,480.00	\$777,135.00

1/3

Da Vinci

Liability for 2546 / for Life to Date

Product Status: SmartCash Enabled: Validation Range: 12/19/2023 - 12/31/2037 N/A

Outstanding Prizes

				9					
Tier	Ref	SmartCash	Tier Value	Count	Amount	Tickets Paid Life to Date	Amount Paid Life to Date	% paid	Est. Tickets Sold
1	1	N/A	\$2.00	400082	\$800,164.00	537466	\$1,074,932.00	57.33%	5302583
2	2	N/A	\$4.00	76326	\$305,304.00	108431	\$433,724.00	58.69%	5428533
3	3	N/A	\$4.00	142656	\$570,624.00	214879	\$859,516.00	60.10%	5559111
4	4	N/A	\$5.00	75577	\$377,885.00	109837	\$549,185.00	59.24%	5479439
5	5	N/A	\$8.00	33257	\$266,056.00	53040	\$424,320.00	61.46%	5685096
6	6	N/A	\$8.00	47781	\$382,248.00	75355	\$602,840.00	61.20%	5660529
7	7	N/A	\$10.00	14815	\$148,150.00	22227	\$222,270.00	60.00%	5550299
8	8	N/A	\$10.00	32985	\$329,850.00	53361	\$533,610.00	61.80%	5716256
9	9	N/A	\$10.00	18825	\$188,250.00	30511	\$305,110.00	61.84%	5720348
10	10	N/A	\$20.00	9785	\$195,700.00	14832	\$296,640.00	60.25%	5573071
11	11	N/A	\$20.00	18382	\$367,640.00	30999	\$619,980.00	62.78%	5806545
12	0	N/A	\$30.00	1517	\$45,510.00	2344	\$70,320.00	60.71%	5615491
13	0	N/A	\$30.00	2141	\$64,230.00	3646	\$109,380.00	63.00%	5827646
14	0	N/A	\$30.00	1793	\$53,790.00	3012	\$90,360.00	62.68%	5798178
15	0	N/A	\$50.00	989	\$49,450.00	1524	\$76,200.00	60.64%	5609478
16	0	N/A	\$50.00	1146	\$57,300.00	1918	\$95,900.00	62.60%	5790150
17	0	N/A	\$50.00	1792	\$89,600.00	3034	\$151,700.00	62.87%	5815114
18	0	N/A	\$50.00	1825	\$91,250.00	2996	\$149,800.00	62.14%	5748237
19	0	N/A	\$100.00	297	\$29,700.00	484	\$48,400.00	61.97%	5732239
20	0	N/A	\$100.00	728	\$72,800.00	1196	\$119,600.00	62.16%	5749844
21	0	N/A	\$100.00	701	\$70,100.00	1214	\$121,400.00	63.39%	5863810
22	0	N/A	\$100.00	205	\$20,500.00	371	\$37,100.00	64.41%	5957738
23	0	N/A	\$100.00	697	\$69,700.00	1237	\$123,700.00	63.96%	5916205
24	0	N/A	\$1,000.00	6 <mark>3</mark>	\$6,000.00	14	\$14,000.00	70.00%	6474825
25	0	N/A	\$30,000.00	3	\$90,000.00	5	\$150,000.00	62.50%	5781094
			Totals:	884311	\$4,741,801.00	1,273,933	\$7,279,987.00		

NO. PO PACKS PACKS			9,249,75 38.5 12 1,92 73,99	4 Maximu 5 0			"BON	S LOTTERY COMMISSIC NUS 7" - GAME NO. 254 PRIZE STRUCTURE 6-Dec-23					
			9,249,75	50		\$2 TICKETS	\$18,499,500	REVENUE	PRIZE FUND	\$12,021,788		PAYOUT %	64.98%
								WINNERS IN	WINNERS IN	WINNERS IN		PERCENT	VALIDATION
PF	RIZE	PRIZE	TIER		# OF WAYS		ODDS OF	38.54	125	240,000	PRIZE	OF PRIZE	TIER
	VEL	CODE	CODE	GET:	TO WIN:	WIN:	1 IN:	POOLS	(PER PACK*)	(Per Pool)	COST	FUND **	LEVELS
	1	1	L	\$2	1	\$2	9.87	937,548	12.67	24326.227	\$1,875,096	15.60%	
	2	2	L	\$4	1	\$4	50.06	184,757	2.50	4793.825	\$739,028	6.15%	
	3	3	L	\$2 x 2	2	\$4	25.87	357,535	4.83	9276.835	\$1,430,140	11.90%	
	4	4	L	\$5	1	\$5	49.89	185,414	2.51	4810.872	\$927,070	7.71%	
	5	5	L	\$2 x 4	4	\$8	107.19	86,297	1.17	2239.118	\$690,376	5.74%	
	6	6	L	\$4 x 2	2	\$8	75.12	123,136	1.66	3194.966	\$985,088	8.19%	
	7 8	7 8	L	\$10	1 2	\$10 \$10	249.71	37,042	0.50	961.116	\$370,420	3.08%	
	9	8 9	L	\$5 x 2	5		107.12	86,346	1.17	2240.389	\$863,460	7.18%	
			L	\$2 x 5	1	\$10	187.48	49,336	0.67	1280.104	\$493,360	4.10%	LOW TIED
	10 11	10 11	L	\$20 \$2 x 10	10	\$20 \$20	375.75 187.31	24,617 49,381	0.33 0.67	638.729 1281.271	\$492,340 \$987,620	4.10% 8.22%	LOW-TIER 81.97%
	12	0	M	\$30	10								81.97%
	13	0	M	\$5 x 2 + \$10 x 2	4	\$30 \$30	2,395.69	3,861	0.05	100.000 150.000	\$115,830	0.96%	
	14	0	M	\$2 x 5 + \$4 x 5	10	\$30	1,598.37 1,925.03	5,787 4,805	0.08 0.07	125.000	\$173,610 \$144,150	1.44% 1.20%	
	15	0	M	\$50	10	\$50	3,680.76	2,513	0.07	65.000	\$125,650	1.05%	
	16	0	M	\$10 x 5	5	\$50	3,018.85	3,064	0.04	80.000	\$153,200	1.03%	
	17	0	M	\$5 x 2 + \$20 x 2	4	\$50	1,916.65	4,826	0.04	125.000	\$153,200	2.01%	
	18	0	M	\$10 x 2 + \$30	3	\$50	1,918.64	4,821	0.07	125.000	\$241,050	2.01%	
	19	0	M	\$100	1	\$100	11,843.47	781	0.01	20.000	\$78,100	0.65%	
	20	0	M	\$50 x 2	2	\$100	4,807.56	1,924	0.03	50.000	\$192,400	1.60%	
	21	0	M	\$5 x 6 + \$10 x 2 + \$20 + \$30	10	\$100	4,830.16	1,915	0.03	50.000	\$191,500	1.59%	
	22	0	M	\$20 x 5	5	\$100	16,058.59	576	0.01	15.000	\$57,600	0.48%	MID-TIER
	23	0	M	\$10 x 10	10	\$100	4,782.70	1,934	0.03	50.000	\$193,400	1.61%	15.87%
	24	0	Н	\$1,000	1	\$1,000	462,487.50	20	0.03	0.519	\$20,000	0.17%	HIGH-TIER
	25	0	н	\$30,000	1	\$30,000	1,156,218.75	8 **	* _	0.208	\$240,000	2.00%	2.16%
				<i>\$30,000</i>	-	\$50,000	4.29 4.2858	2,158,244	29.17	55,999	\$ 12,021,788	100.00%	100.00%
				Consolidated adds are 4 in		ės.	0.07	027.540		h of the following GLEP	S will be used in appro	oximately 16.67%	of each pack of
				Consolidated odds are 1 in:		\$2 \$4	9.87 17.06	937,548 542,292		tickets. nbers are rounded.			
						\$ 4 \$5	49.89	185,414		number of prizes is gua	wantaad daliwan ta th	a Lattani	
						\$5 \$8	44.17	209,433	· · · IIIIS	number of prizes is gua	aranteed delivery to tr	ie Lottery.	
						\$8 \$10	53.55	172,724					
						\$10	125.00	73,998					
						\$30	639.99	73,998 14,453					
						\$30 \$50	639.99	14,453 15,224					
						\$100	1,297.30	7,130					
						\$1,000	1,297.30 462,487.50	7,130 20					
						\$1,000	1,156,218.75	20 8					
						J30,000	1,130,210.75	2,158,244					
								2,130,244					

	Not Applicable for this game.
--	-------------------------------



INTEROFFICE MEMO

Gary Grief, Executive Director

LaDonna Castañuela, Charitable Bingo Operations Director

Payment Approval

December 22, 2023

Vendor Name

Tx Game #/Name

The attached invoice(s) for service is being submitted for approval.

#2546 Bonus 7

P.O. Number (if applicable) 362-24-9010RL002

Pollard Banknote Limited

Draw #			
Invoice Number	8537312		
Invoice Amount	\$210,594.43		
The above referenced invoice	ce(s) have been reviewed and o	certified as proper, accurate and	
should be paid by the Texas	Lottery Commission.		
			JB
Dale Bowersock (Scratch Tick	ket Strategy Coordinator)	1/3/2024 Date	
Will Russ		1/4/2024	
Will Russ (Products Manager	`	Date	
Past Con)	1/5/2024	
Dahart Tidani (Latters On and	ione Division Discretary	South Assertation Assertation and Assertation	
Robert Tirloni (Lottery Operati	ions Division Director)	Date	
Please return to Maria Perez	in the Office of the Controller by	January 1, 2024	



140 Otter Street Winnipeg, Manitoba Canada R3T OM8 Phone: (204) 474-2323

Fax: (204) 453-1375

INVOICE NO.: 8537312

Sold To: Texas Lottery Commission
P.O. Box 16630
Austin, TX 78761-6630
United States

Terms: Net 30 days after date of invoice

Ship To: IGT Texas Distribution Center
8520 Tuscany Way
Building #6, Suite 100
Attn:Texas Lottery Warehouse Rep
Austin, Texas 78754
United States

Terms: January 19, 2024

Invoice Date	Order No.	Your Order	Customer No.
December 20, 2023	1200894		5008

Order name:

BONUS 7 #2546

PO Number:

Product Description	Quantity	Unit Price		Amount
Ticket Size 4 x 4	9,249,750	13.73	/M	126,999.07
Four colour process / Spectrum base graphics	9,249,750	4.00	/M	36,999.00
Additional scene within a book	9,249,750	0.57	/M	5,272.36
Integrated Overprints / Continuous Image	9,249,750	4.00	/M	36,999.00
Inserts	1	4,325.00	Ea	4,325.00

Under unit price '/M' = price per thousand.

Before Taxes:	210,594.43 USD
Freight:	0.00
Deposit:	0.00
Amount Due:	210,594.43 USD



Scratch Ticket Game Closing Analysis 02/27/22 Thru 02/24/24

Average Number of Weeks for 85% Average Sell Through

		Price	Point		Price Point							
Print Quantities	\$1	\$2	\$3	\$ 5	\$10	\$20	\$30	\$50	\$100			
< 5M	None	None	None	None	None	None	None	None	None			
5M-9.99M	None	Week 17	Week 13	Week 20	Week 26	*Week 36	*Week 97	*Week 56	None			
10M-14.99M	*Week 15	*Week 28	None	None	*Week 29	None	None	None	None			
15M-19.99M	Week 30	None	None	None	None	Week 53 None		None	None			
20M-24.99M	None	None	None	*Week 76	None	None	None	None	None			
25M-29.99M	None	None	None	None	None	None	None	None	None			
30M-34.99M	-34.99M None None		*Week 68	*Week 68 None		None	None	None	None			
>=35M	None	None	*Week 97	*Week 52	*Week 54	None	None	None	None			

Average Weekly Dollar Sales at 85% Average Sell Through

		Price	Point		Price Point							
Print Quantities	\$1 \$2		\$3	\$ 5	\$10	\$20	\$30	\$50	\$100			
< 5M	None	None	None None No		None	None None		None	None			
5M-9.99M	None	\$889,989	\$1,232,303	\$1,698,404	\$2,234,215	\$3,886,072	\$2,359,958	\$4,641,250	None			
10M-14.99M	\$649,617	\$620,682	None	None	\$3,571,641	None None		None	None			
15M-19.99M	\$506,021	None	None	None	None	\$6,498,580	None	None	None			
20M-24.99M	None	None	None	\$1,301,423	None	None	None	None	None			
25M-29.99M	None	None	None	None	None	None	None	None	None			
30M-34.99M	None	None	\$1,222,418	None	None	None	None	None	None			
>=35M	None	None	\$1,254,889	\$4,803,626	\$7,966,148	None	None	None	None			

None = no games at this level with 85% sell through

^{*} only one game at this level with 85% sell through

Gough, Riley
Bowersock, Dale
RE: August Pre-call Recommendations Tuesday, July 30, 2024 10:54:56 AM image001.png image002.png

CAUTION: This email originated outside the Texas Lottery's email system.

DO NOT click links or open attachments unless you expect them from the sender and know the content is safe.

Hi Dale,

Please remove from the list \$10 Cash Blowout (#2413) and \$30 Winners Circle (#2053). We would like to wait to pre-call those two games. Otherwise, the list looks good

Thanks,

Riley

From: Bowersock, Dale <Dale.Bowersock@lottery.state.tx.us>

Sent: Monday, July 29, 2024 8:46 AM To: Gough, Riley <Riley.Gough@IGT.com> Subject: August Pre-call Recommendations

CAUTION: This email originated outside of IGT. Do not click links or open attachments unless you recognize the sender and know the content is safe.

Riley,

Below are the Pre-call recommendations for August.

Game Close Dates:

Pre-Call: 8/9/24 Call: 9/8/24 Close: 10/23/24 EOV: 4/21/25

														Net Sales			
Product Line	Game	\$	Tix Run	Name	Start	Call	Close	Wks	% Sold	Confirmed	Active	Ware	Return	7/27/24	7/20/24	7/13/24	7/6/24
	2417	\$1	9,996,450	7-11-21	3/18/24			19	80.18%	5,039	3,834	1,941	826	\$217,460.00	\$233,880.00	\$237,039.00	\$276,376.00
	2546	\$2	9,249,750	BONUS 7	1/16/24			28	64.43%	2,803	1,035	18,541	3,110	\$89,510.00	\$96,920.00	\$107,360.00	\$116,724.00
	2554	\$5	7,213,575	50X THE WIN	3/4/24			21	63.99%	1,896	974	29,597	1,384	\$150,895.00	\$172,485.00	\$195,930.00	\$235,715.00
	2550	\$5	7,211,325	SHOW ME 100X	2/5/24			25	68.54%	1,103	628	27,464	649	\$104,670.00	\$99,595.00	\$124,620.00	\$145,170.00
	2553	\$5	7,274,325	WINNING 7S	2/19/24			23	62.32%	1,937	1,013	30,792	2,062	\$143,495.00	\$161,405.00	\$171,360.00	\$219,005.00
	2386	\$10	8,145,250	BREAK THE BANK SUPER TICKET	11/6/23			38	52.13%	7,242	4,903	64,488	43	\$813,190.00	\$767,360.00	\$778,220.00	\$863,060.00
	2413	\$10	28,619,300	CA\$H BLOWOUT	3/6/23			73	48.06%	6,380	2,874	286,271	121	\$621,340.00	\$654,010.00	\$654,490.00	\$650,780.00
	2053	\$30	34,080,725	\$750 MILLION WINNER'S CIRCLE	3/19/18			332	87.51%	6,186	3,209	157,350	41	\$1,141,050.00	\$1,186,860.00	\$1,039,680.00	\$1,170,180.00
	2560	\$10	7.209.700	\$50, \$100 OR \$500!	2/5/24			25	90.72%	6.437	1,476	206	1.925	\$455,480.00	\$625,840.00	\$717,760,00	\$1.027.720.00

Please let me know if you have any concerns.

Thanks, Dale

CONFIDENTIALITY NOTICE: This message is the property of International Game Technology PLC and/or its subsidiaries and may contain proprietary, confidential or trade secret information. This message is intended solely for the use of the addressee. If you are not the intended recipient and have received this message in error, please delete this message from your system. Any unauthorized reading, distribution, copying, or other use of this message or its attachments is strictly prohibited.